
СИСТЕМАТИКА​
XV олимпиада по математике. 1 тур ​

6 класс 

Задача 1​
Ответ: В) 123​
Баллы: 4 балла​
​
Задача 2​
Ответ: А) 16​
Баллы: 5 баллов​
​
Задача 3​
Ответ: Б) 1 час 12 минут 
Баллы: 4 балла​
​
Задача 4  
Ответ: Б) 5 
Баллы: 6 баллов​
​
Задача 5​
Ответ: Б) 17 
Баллы: 6 баллов​
​
Задача 6​
Ответ: В) 10 
Баллы: 6 баллов​
​
Задача 7 ​
Ответ: Б) программист 
и инженер 
Баллы: 4 балла​
​
Задача 8 ​
Ответ: В) 15 
Баллы: 5 баллов​
​
Задача 9​
Ответ: А) 10384 
Баллы: 5 баллов​
​
Задача 10​
Ответ: Б) 147 
Баллы: 5 баллов 


